Indian Army Education Havildar Sample Paper

Q1 Fahim e S d dmr
Ber -Beri disease is caused by the deficiency of :

i ot @y Vitamin A &) e =1 Vitamin B

ic) Fafim 41 s Vitamin C (o) B=I#E 21/ Vitamin D Ans:B
Q2. WA W =T EAE | Who is the President of India?

(A} 3T F%2 T/ R Venkat Raman

() T 97 A FAM/ APJ Abdul Kalam

(C) TRTET Tifes Pratibha Patil

(o) B1fE 31T / Hameed Ansari Ans : C

Q3 , gH9 & dgm FE F # e ger g A e |
An earthquake is recorded by by afan :
(A} EIFFEST / Oscilloscope  (B) BT | Spectroscope
(C) SEIEET / Seismograph (D) AT Thermometer Ans:C
Q4 AT HWA B TEH TEHT A0 91
The first Governor General of free India was :

() Wt TEITOET / C. Rajgopalachari

(B)FTE 732 F27 Lord Mountbatten

(c) 2 7= 745 / Dr. Rajendra Prasad

(0} = dME 3=E=s Dr. BR Ambedkar Ans:B

Q5. o & WE 9EEE &% & ¢ C. B. | stands for
(A) AT F5i a8 Central Board of India
(B)FR19 =9 =/ Central Bureau of Investigation
() e 3T Afas ZEr/ Chemical and Biological Industry
(o) 394 § ¥ & 78 / None of the above Ans : B

Q6. TR § WL @ ad & | 'Monitor of a computer is:

(4) TF I g ¢ An output device

(B) T Mt g7 An Input device

(C) FFEET A=A dT  Computer software

(o) 374F & ¥ 31 T8 /None of the above Ans : A
Q7. 2010 FHAETT THl & AEITH Fo 5T A 79 5 &

In which city 2010 Commonwealth Games are scheduled to be held :

i) =T £ Sydney (B) =7 / London

ic) 22T Toronto i) el Delhi Ans:D
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Q8. TR A:B=2:3 AT B:C=4:5 el c-A 5 AT E
AlfA:B=2:3andB:C=4 :5thenC: Aisequallo:
(A)15: 8(B) 12 :10 (C1B:5 (D)8 :156 Ans A

Q9. a% 3 TEEE @ AT 17 € 30 4 UET 21 @0 36T 16 © o oraan den 541 een |

If the average of 3 numbers is 17 and that of the first two are 16, the third number is:
(A) 1 (B) 16 (C)y 17 (D) 19 Ans:D

Q10 1 HEa & UEA 20535 ¢ | O I 50 W0 90 37 ¥ A @ Mo W0 Y0 F Hifay
The product of two numbers is 20535. If their H.C.F is 37 then find their L.C.M
Ans : 555
Qi1. U HEH A9 912 & 1080 ¥OU 9wt 10% F A H0N § O 912 & B9 T E
A man soid hes horse for R=.1880 and gained 10%. Thee horse WES

bought for:
{A) Rs. 1800 (B) Rs. 1782
(C} Rs 2178 (D) 39HFT 7 & &S TRl / None of the above Ans - A
Q12. 18 T ol w2y &1 7 &1 frex o dEs F e wi |
Express a speed of 18 km per hour in meter per second : Ans 5 94 /mis

Q13. TF =i FE &0 5000 TRAE & 3 & 16 T aam & | 98 e =@ & g |
A man saves 16% of his total income of Rs 5000 per month. How
much does he spend 7 Ans : Rs. 4200

Ql4. T & wmm @/ Simplify the following :
171 +189x89=7
(A) 1 (B) 1& (C) 81 (D10 Ans: C

Q15 O UF W F GISE Iu EE 7 2 9121 H £ 97 396 T 32 9127 & A1 AT w5 SEw
T &R |

If the width of a rectangle is 2 metre less than its length and its perimeter is 32 meler then
the area of the rectangle is :

() 224 T A :E:-mEEPf A /2
:n::wa?:ﬁlﬁfm'- [DjﬁaEF'f At Ans: D
ote. = &nil § Re 9en 9w sk |

Find out the missing number in the following series
1,8,2764......
(A) 121 (B) 81 (C)125 (D) 144 Ans:C
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. s fm M A anaw | T Al EE s A aw | smaE RE g
R gl W E |

218,

218,

220,

Ravi travelled 4 km straight towards South. He turned left and travelled 3 km straight.
How far is he from the starting point ?

{4 8 HET A iB) & MR AmM () 7 REiAom (D) 2 S Am Ans: B
™ ¥ T @ 999 & | Find the odd man out from the following :

Ay Tel S Ooty (3 AT Mainital

(cTEEMadurai (o ETfem Darjeeling Ans: C
Of% DoLLy 68 B A1 ‘BOLLY ST B8R T | 1f ‘DOLLY" is 68, then how much will be ‘BOLLY'?
{A) BS {2 66 {C) B& (D) &3 Ans ' B

T AT § 5 @ W O & A7 e S 7

Which number should come in the region where question mark is

placed ? .E lE .M

{A) 10 28 {C) 18 (D) 21 Ans : C

cz1. 9 § 30 9/ g & 22 SifAg EE SEgE wa e e E E

Q222

Select the lettered pair that has the same relationship as the pair of
words like - Teacher : Student.

[A}ﬁﬁﬂﬁ!ﬁﬁﬁ’ﬂﬂach:ﬂay&r {Bjﬂiﬁﬂﬁﬁlﬂf?ﬂﬂt:!’ﬂ&tw

(C) U7 ¢ U2/ Painter : Paint (D) TR ¢ {1/ Director : Film  Ans : A
U A TA AT @ . QR & 99 AT e P @ afed AW @9 E | O, N & FfA
WTPHFAN I TNE | R ES REFTRT AT TH I s =18 | 9 AR

FEEA T A Ea g |

223,

In a row seven persons are standing. Q is standing left to R but right to P. O is standing
right to N and left to P. Similarly, 5 is standing right to R and left to T. Find out who is
standing in the middle ?

(AP BIR (C)Q o Ans . C
M+, -7 WX, TFH WE- I X WAT + AT aT FmEmm 7
If + means + — means =, + means — and = means +, what wil be the
value of the following?

B+B+4-T=x3

(A)-232 (B)14 (Cy71/3 (D)7 Ans: C
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26.

Q7.
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29,

Q30.
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AT SRS ® MMT W A SR § ey e W EE o e 7

Which one comes first as per Dictionary words?
Knowledge, Knife, Known, Kite
(A) Kite (B} Knowledge (C) Known (D) Knife Ans A

T ¥ B @ A Rl @ s # aee e 5e R @
Which one of the following interchanges in signs would make the

given equation correct
3—9x27T+89+3=3

(a)+ HTand - (3)x ¥hand + (C) = HTand + (D)= HTand - Ans: D
e R gu et § @ foga o= & 99w g

Choose the missing term from the given alternative.
ZUA, XOC, VIE, TEG, (....)

(A) SAG (B) RAI (C) RAJ (D) QAE Ans : B

FRammifFm @Y i g e Y i g m Y e
How many 1s are there in the following seguence which are
immediately preceded by but not immediately followed by 77

719117189171213145713917

(A} THOne (B) HTwo c) @ Three (D) TFour Ans * A
fE Rt o ¥ sanic & zver & gled B AT § A @ 3 A § taxes & 0§ gl
T S

If in a cerain language BANK' is coded as 'ZYLI' then how will
‘TAXES' be coded in the same language ?

Ans : "RYVCQ”
P 3§ & usafes & e & O SR |
Fill in the blanks at the place of 7 in the following :
Calendar : Date : : Dictionary : 7
(A) time (B) words (C) numbers (D) weight Ans . B
&6 3 T AW W WE 12 A | 3T TEE WE A
Sarita ranks twelfth in a class of forty six. What will be her rank from
the last?
(A) 33 (B) 35 (C) 37 (D) 34 Ans: B
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